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8.01 +9=0.89
® 8.01+9=0.89 @ 0.89+9 =8.01
@ 0.89-9=28.01 @0.89 x 9 = 8.01

® 0.89+9=28.01
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(F)x (Hre ) = (HRolAle &) dYth
w2hA 8.01 + 9 = 0.89 9] AL

0.89 x 9 = 8.01 Y1t}
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@ 7}2 9cm, A2 4cm, =°] 3cm
@7]-1?’5 5.5cm, A2 6cm, 0] 4cm Q) ASHA
@ 712 4cm, A2 4cm, =0] 6cm @l Z-SHA

® 7F2 12cm, A2 3cm, 0] 2.5cm Q 2-SHA
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@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5x6x4=132(cm?)
® 4x4%x6=096(cm?)
® 12x3x 2.5 =90(cm?)
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(AES o] ) = (B HY 4)+1
(1) 3+1 = 4(7H)

(2) 5+1=6("H)

=222 446 =10(7}) 44t
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(5% 5) X 6 = 150( cm?)
(7% 7) x 6 = 294( cm?)
w2hA] 294 — 150 = 144( cm?)




1%@741]4 —,—114 10 x 8 x 5 = 400( cm?)
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(RAZEFE 9] Yol)=(712)x (A=)
A2) = (AR Hol) = (712)
=51.6+8
— 6.45( cm)
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@ ©] HoJ @ 5x 4+ 2 = 10(cm?)

@ 9] Wol : 7x 2+ 2 =7(cm?)
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» & cm

> HE: 40cm®

B

0.54L = 540 mL
Lol 9] oF: 540 — 340 = 200( mL)
< 5719 F1 : 200(mL)

& 17e] H1] 1 200 + 5 = 40(mL)
wabA 40 mL = 40 cm?®




